
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

vier Dezimalstellen, Reihenfolge der Operationen
mit Klammern

(6 ÷ 2 + 4, 8) × 4, 3 = (6, 9 + 2, 3) × 2, 9 + 4, 3 =

3, 3 + 2, 8(3, 4 − 5, 4) = (4, 7 + 2, 4) × 6, 8 + 2, 7 =

(4, 6 − 2, 4) × 4, 3 − 5 = 10(2, 9 − 2, 2) ÷ 2 =

30(3, 5 + 6) ÷ 6 = (2, 2 − 4, 7) × 3, 6 − 5, 4 =

(12 ÷ 2 − 4, 2) × 3, 2 = (4, 6 − 6, 6) × 2, 2 + 5, 8 =

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

vier Dezimalstellen, Reihenfolge der Operationen
mit Klammern

(6 ÷ 2 + 4, 8) × 4, 3 = 33.54 (6, 9 + 2, 3) × 2, 9 + 4, 3 = 30.98

3, 3 + 2, 8(3, 4 − 5, 4) = −2.3 (4, 7 + 2, 4) × 6, 8 + 2, 7 = 50.98

(4, 6 − 2, 4) × 4, 3 − 5 = 4.46 10(2, 9 − 2, 2) ÷ 2 = 3.5

30(3, 5 + 6) ÷ 6 = 47.5 (2, 2 − 4, 7) × 3, 6 − 5, 4 = −14.4

(12 ÷ 2 − 4, 2) × 3, 2 = 5.76 (4, 6 − 6, 6) × 2, 2 + 5, 8 = 1.4

www.snowmath.com

https://www.snowmath.com

